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lspeed as function of α for a given one way light speed in x direction and resulting speed in y direction 

v1 α c, ( )1

c

v1 α 2c, ( )1

c

v1 α 0.7c, ( )1

c

v1 α c, ( )0

c

v1 α c, ( )0

c
, 

v1 α 0.7c, ( )0

c
, 

cy
c

c

cx








sin α( )⋅ 1+

=

c 3 10
8

×=
α 0

π

4
0.00000001+, π..:= chor 6 10

8
×=

c2 α chor, ( )

c

1

0.739

0.667

0.739













=
c2 α π+ chor, ( )

c

1

1.547

2

1.547













= d1 c2 α chor, ( )( )

c

1

1.547

2

1.547













=

α 0 0
π

100
+, 2π 0.98⋅..:=



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0.1

1

10

lspeed as function of α for a given one way light speed in x direction and resulting speed in y direction 
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